SUBTRACTION TO 1000
1. Subtract  48 from 85 ____________
70 take away 42 _______________

100 minus 71 _________________

Take 37 from  54 ______________
2. 170 – 40 =_____                            569 – 32 =______
931 – 67 =_____                             900 – 57 =______

3. 732 - ___ =593                                934 -___ =900
___- 6 = 700                                     ___ - 75 = 665

4.  How much does each have left?
Tara saved  £205.                            Will saved  £400.

She spent  £9.                                   He spent  £8.

__________ left.                                _________ left.

5. Find the difference between:
96 and 104___________

199 and 209 _________

257 and 190 _________
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